
LetsPlayMaths.com 

Copyright © 2019 LetsPlayMaths.com. All Rights Reserved. 
 

Class V – Internal-Assessment – 1 
           Full Mark: 40 

 Answer the following questions.       [3X5=15] 

1. Find the estimated sum of 34539 and 68457 by rounding off to the nearest ten thousands. 

2. What is the difference between ten lakh and smallest six-digit number?  

3. Find the dividend when divisor is equal to 25, quotient is equal to 625 and remainder is equal to 9. 

4. 4252 x 35 = 148820, find the value of 4252 x 34. (Use distributive property) 

5. a) Write 245 in roman numeral. 

b) What is the sum of XXXV and LXX? 

c) What is the successor of CXIX?  

Answer the following questions.       [4X5=20]  

6. Capacity of a water tank is 5672 liters. How much water is pumped into the tank in a leap year if it is 
filled to the capacity every day? 

7. The population of a city in the year 2017 was 2698701. In the year 2018 population became 2709578. 

What is the rise in population? 

8. A cycle manufacturing company produced 365976 cycles during the first six months of the year. The 
production during the next six months was 326574 cycles. If the company sold 457888 cycles, then how 
many cycles remain to be sold? 

9. Cost of 567 motorbikes are Rs. 48580560. What is the price of each motorbike? 

10. X = 7832457, Y = 5798231 and Z = 470365234. Find the value of 2X + 3Y + Z. 

Fill in the blanks         [1X5=5]   

11. 375 + (1205 + 258) = 1205 + (258 + _____)  

12. 10 lakhs = ________ thousands. 

13. 1450 x ________ = 14500000. 

14. Complete the pattern. 25525, 25425, 25325, ________. 

15. Write the smallest seven-digit number that can be formed by the digits 0, 3, 4, 7, 2. (Repetition 
allowed and must use all the digits at least once)     


